BEAD GEXEF - BTTH5)

{f6F5H 18
;1) X % # F K A ! % %

B 7 & o X 6,921 13,334 7,01 | 6,323

X B # K 1,206 2,822 1,387 1,435

£ P # K 547 1,379 693 686

N RO K 1,009 2,608 1,317 1,29 |

Bl £ # K 7,128 | 4,849 7,266 7,583

N | R # K 1,306 3,071 1,497 1,574

it XX M # K 1,035 2,419 1,203 1,216

it &8 & b K 8,030 18,477 8,788 9,689

B » B # X 6,55 | 16,138 8,082 8,056

& 5 33,733 75,097 37,244 37,853
Lf6F5H 1 8

w K A& BT T % # #H A ] 5 54

B 7 WX BE 7 1B T A 4,626 9,219 4,645 4,574
¥ FB H 192 346 190 156

® B E 426 827 436 39|

£ L L H 771 1,345 853 492

g R H 320 537 300 237

53 ip) 586 1,060 587 473

#H K3 6,921 13,334 7,01 | 6,323

A E 1 K £ B H 88 204 101 103
K & H 827 1,936 945 99|

E % | 44 340 170 170

+ K 1% #7 6T 147 342 171 171

#H K3 1,206 2,822 1,387 1,435

k P # K ® B H 136 338 175 163
= (| 17 38 16 22

£ @\ H 125 394 185 209

& & H 98 217 103 I 14

wR O E 107 24| 135 106

K F  H 64 151 79 72

#H K3 547 1,379 693 686

N RO X N KR H 178 404 206 198
nOR 148 392 194 198

7 PR HT 32 78 34 44

B R ¥ g 485 1,316 678 638

& A& 65 | 74 82 q2

Z ij) 101 244 123 121

#H K3 1,009 2,608 1,317 1,29 |
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BEAD GEXEF - BTTH5)

2f6%FE5F | B
X £ B T 4 it FEH A = L 8
Bl &£ # X | B & H 648 1,516 736 780
P9 & %7 @ BT | 2 2 0
A 1 HT 163 408 196 212
B R B 739 1,618 792 826
& & 966 2,149 1,006 |,143
Bl &£ 103 394 155 239
= & 1,977 3,953 1,966 1,987
B | TH 238 419 215 204
8 2 TEH 45| 882 443 439
8 3 TH 493 807 410 397
8 4 TBH 743 1,362 687 675
Mt W 26 15 |
NGB OFE A HT 433 920 459 46|
JE £ 787 %7 @ T 16 37 15 22
LT 1 146 356 169 187
#H X 7,128 | 4,849 7,266 7,583
N R R X R AR E 1,306 3,071 1,497 1,574
#H X3 1,306 3,071 1,497 1,574
b X R X & ¢ H 71 222 116 106
& 7 #7 @ T 63 | 54 76 78
‘A BE YR E] |04 244 118 126
g @\ 60 142 74 68
it /H  H 74 194 q4 100
N B 32 83 43 40
& A 67 177 89 88
X B 6 16 7 q
BAaa | TH q3 193 104 89
BAaE2TH 90 197 93 |04
B a3 TH 102 201 98 103
mHoE4TH 137 307 148 159
Mo ES5TH 54 118 57 6|
BN E6TH 82 171 86 85
#H X 1,035 2,419 1,203 1,216
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BEAD GEXEF - BTTH5)

{f6F5H 18
H K % B T 4 # FH | A = L 8
t®EE®E | LI TH 186 404 197 207
EWL2TEH 196 455 214 24|
EWw 3 TEH 173 387 202 185
Bl 4 TEH 334 837 362 475
EWL5TEH 275 606 281 325
EWL 6 TEH 283 669 334 335
EWL7TEH 236 583 284 299
EWL 8 TEH 273 608 307 301
WwWE I TEH 444 934 438 496
WwWE2TEH | 29 329 161 168
¥ 3ITBAE 232 514 265 249
WwWE4TEH 157 363 171 192
WwW¥ES5TBH 246 556 266 290
WwW¥E 6 TBH 272 616 285 331
NI T B 28 62 30 32
N2 T H 353 899 446 453
N3 TEH 181 405 210 195
NS 4 T B 639 1,238 520 718
T& 1 TH 205 47| 225 246
& 2T7TEH 236 572 267 305
& 3TEH 138 319 167 152
T & 4T7TEH 270 669 323 346
T &5TEH 194 44| 191 250
BRE I TH 195 487 235 252
BHRE2TH 208 570 278 292
BHRE3TE 72 193 ql 102
wHRE4TH 211 455 213 242
BHRES5TE 289 744 348 396
Afx& | TH 161 404 201 203
A& 2TH 173 410 204 206
A& 3TH 367 822 397 425
Afr& 4 TH 674 1,455 675 780
o X E 8,030 18,477 8,788 9,689
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2f6%FE5F | B
H K % B T 4 # FH | A = L 8
Ry MK | gEyrl TH 172 806 552 254
o E2TH 166 408 205 203
By A3 TH 205 467 239 228
o R4 TH 285 758 356 402
B4y A5 TH 347 822 383 439
By 6TH 341 a5 480 471
Bk BT TEH 43| 1,122 579 543
W/ AW TH 292 711 329 382
W/ W2TH 24| 583 285 298
W/ N3TEHE 380 987 470 517
W/ N4TBHE 309 779 375 404
W/ W5TH 284 725 363 362
wr e TH 532 1,128 564 564
WworBE2TH 468 1,001 486 515
WwWor B3 T8 363 1,014 508 506
Wwor B 4TE 333 565 282 283
= I = 284 733 372 361
B3 2TB8 454 1,036 523 513
B3R 3TA8 316 760 389 371
B3 4TH 330 607 287 320
v B | TH | 132 36 96
v B 3 T8 |7 43 19 24
# K F 6,55 | 16,138 8,082 8,056
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